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i

(gal/min)). 7t #33l ATz b, bhp T4
dol 47 Hde) QU Z2aYL YN BEF
FFE BYREE AH £ Ak Bdesi e
Aate) Agw e d4aFd g9k o 4%
g s 05gal/min o2 A
0% 2228 EPT1.FOR - YHXIR T 'EPT1.DAT'
HHAl 35 JIYED 40} INGERSOLL-DRESSER 15H277
8SPECS
NPIPES=2,NPARTS=5,I0UT=10,HRESUP=1000. HRESDN=1240,
ZEND=1100. HATM=30.,QTRY=0, QACC=0.50,

%
02

Maximum head

TMAX=60.,PFILE=T HVPRNT=T PPLOT=T B NI BE 7S E4 S Awel EFTLIOR
GRAPH—T”RERUN-YF/ ' ' = old ZAIE sl s P%E‘q o] €4
o A 013 B0 A R SU AQE WEF . Aol ME AT G
) 30' 30000' '013 3590' 800' g FAE vdehle 919 a3 BHoRRH 2EY
: e ! ! =Y o) =0 glo [o] LC_}r__‘O;_OI- %%E"E—
8PUMPS NPUMPS=2, NSTAGE=3,|PUMP=1,RPM=1775., ; ;i‘] ?;ji;j ;:3 i ﬁjﬂ*ﬁ y A; N
WRSQ=475.,QN=0.,1000.,2000.,3000. 4000..4500., e
i 1 A% B5Y & Yok ol 9o 5 Fask By
HNSQ=129.,127.5,121.,108.5,67.5.0., o ot
TNSG=50.,58.,78.,92. 97.,80./
8GRAF NSAVE=2./0UTSA=1,PIPE=1,2,0.0,NODE=999,1,0,0/
€3 T2 EP71.FOR TILES = 2% D) Jlsds X B 3Y 202 K 802t
TITLE2 = 22 TH2ef D1 E E UM ZY 2Yo= A 802

+ (0| Z2IE2 SN HAlE AN ZEoHA
« Nl 0l 22039 3240 (3 #42S WA &
« 0l T2 ABRE RN0| BT M8E = Y

th

ooar

* PROGRAM NO. EP71.FOR

+ 28 Z0 1Y BEY HE A £EF ofMS fgt 2B MR 7

SEp el R B
)éi |Sl9i0 BOR XHOZ gia)

o—o T

« - 0 Z2IB0 M= 2 BEJ SADF BRLW FXats 222 HIal
*

* workr NS AY wwwnk

+ WSS 48E NRES 156 ARH0 RS0 M HAHOR ¥E)|

100

NPIPES = HZA29 Ha =

PS

JIZCZ 0¥ ouToiC EZ =l

%, I0UT=3012 3¢A OICH E8i0H

=N2 *F2N Bel= FT
OFE Ml £AZK SRE FT
2C2H 99 FT

NPARTS = Bf20l h—(HXIL 2EY
IOUT = £82 Hoigks

HRESUP = &8& I

HRESON = &%

ZEND = OIR% OHIY 22
HATM = D1 +52M CH Ff
QTRY = H&§ |8Y %)

S WS HSE

5 @E‘EEH HHE GPM

01612 AlEo%m

TMAX = o4 }JEH AZUOZA Hei= SEC.
DINEW = Z4RE5S RAoh] fth 288 S48 DELTATY £X.
RETURN=.TRUE.Jt &I AASHAI= 001 Ot X0t 26t

PFILE = LOGICALIF.TRUE., 229 3¢
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5 REFoH Moo H=o| A=A

+  HVPRNT = LOGICALIF.TRUE., 243 A Jigdt AR,

* (MHIE SN Cohks $EZIY 'PGRAPH AT

* PPLOT = LOGICALIF.TRUE., AlZ¢BH =501 HEt PRINTER PLOTOl ZAELCL
+ GRAPH = LOGICALIF.TRUE, ZIE2 PLOTA! S1ak LOGICAL UNIT 92

* S A% N2 TU0 A4E0

+ RERUN = LOGICALIF.TRUE., DELTA T ME2 #3112 HISSH00F it
* 0l LOGICAL2 Ot34 NB0I ATt FHH 280 208 [at
* TRUEZ £3ELL

+ PIPE = BE WS(HRE Z0RH 12 AZS0)

« D) = 29 HZFoZ Tiels IN.

L) =2 Z0IZH Sels T

+ F = SAI-HIotY OHEH4 f e oti-22189 C 3
A = 20 Yel= /S

+ PIPEZ()= 455 209 ti DT2H Y= FT

+ NPUMPS = #E2Hots BEO & i+

+ NSTAGE = 2 BES O 2

» IPUMP = BIRE 200 Ol BEE 3= 229 2R

« RPM = 3% BIEY gi=» Uel= RPM

+ WRSQ = BEG RHY 4 QUER EH-IE LBM- FTA2

+ TNSQD = 9§'='E1 FEED 3 GIHY BHPE Ew HP

x o« ONOB HNSQ() (4t At QN(1)=0, D212 HNSQ()=0 F= ZQste 29

*  ZAE TS [t B E 5'33(;% Jmoz AZAIHO &

x ZRN0 UTH

DIMENSION X[ALLOCATABLEI](:),V[ALLOCATABLE](: 2,

$HIALLOCATABLE](:,:), HLOW[ALLOCATABLE](:.")
$HHIGH[ALLOCATABLE](.,2), HEAD ALLOCATABLE]( ),
SUNEW[ALLOCATABLE](:,:), INEW[ALLOCATABLE)(:, ),
$THIGH[ALLOCATABLE](:,:), TLOW[ALLOCATABLE](:,:),
$HSTEAD[ALLOCATABLE](:,")
DIMENSION LIALLOGATABLE](:),D[ALLOCATABLE] (-}, A[ALLOCATABLEL(:),
$PIPEZ{ALLOCATABLE](), FIALLOCATABLE](:), VZERO[ALLOCATABLE](:),
$NPARIALLOCATABLE](:),CIALLOCATABLE](:) AKTALLOCATABLEI(:),
$SINE[ALLOCATABLE](:) AREATALLOCATABLE](:), DELTT [ALLOCATABLE] (),

10

$RATIO[ALLOCATABLE](:)
* MP=100
. MMP=100

* DIMENSION X(MP,MMP), VIMP,MMP) H(MP,MMP), HLOW(MP, MMP), HRIGH(MP MMP),
$SHEAD(MP, MMP), UNEW(MP, MMP), HNEW(MP,MMP), THIGH(MP. MMP), TLOW(MP MMP),
+ SHSTEAD(MP MMP)
* DIMENSION LIMP).D(MP),AMMP),PIPEZ(MP).F(MP),VZERO(MP) NPARIMP),
+ $CIMP).AKIMP) SINE(MP), AREA(MP), DELTT(MP), RATIOMP)
DIMENSION QN(B),HNSQ(6),TNSQ(E)
LOGICAL FAIL,BYPASS,SAVE,PPLOT,HVPRNT,RERUN, PFILE,GRAPH
INTEGER PIPE
REAL LALNEXP
CHARACTER TITLET*80, TITLE2+80,CH,CH12,CH78,CH79,CHN.FNAME*12
NAMELIST /SPECS/ NPIPES NPARTS,IOUT HRESUP, HRESDN,ZEND, HATM,
$ QTRY,QACC, TMAX, DTNEW, PFILE,HVPRNT,PPLOT,
$ GRAPH,RERUN
NAMELIST /PUMPS/ NPUMPS NSTAGE, IPUMP,RPM,WRSQ,QN.HNSQ,TNSQ
DATA SAVE,PPLOT,HVPRNT RERUN,PFILE, GRAPH/6+ FALSE./

WRITE(791)

SMIIAHME Mo, M6=, 2006

READ(x, 790) FNAME
OPEN(5, FILE=FNAME)
READ(5,100) TITLET
READ(5.100) TITLE2
READ{5,SPECS)
MP=NPIPES
ALLOCATE (L(MP),O(MP),AMP) PIPEZ(MP)F{MP),VZERO(MP),
SNPAR(MP),C{MP). AK(MP) SINE(MP), AREA(MP), DELTT(MP), RATIO(MP))
READ(5. %) (PIPE,D{I,LU).F{I), AN PIPEZ(1),1=1,NPIPES)
READ(5,PUMPS)
WRITE(+,792)
READ(*,790) FNAME
OPEN(B, FILE=FNAME, STATUS="REPLACE'}

OO OO O

*

CH=CHAR(T)
CH12=CHAR(12)
CH78=CHAR(78)
CH79=CHAR(79)
CHN=CHAR(3)
DELTN=100000.
FAIL= FALSE.
BYPASS=.FALSE.
IF{PPLOT.OR HVPRNT.OR.GRAPH) SAVE=TRUE.
PINERT=WRSQ/32.2
PI=3.141592
NEXP=1.0
IF(F(1).GT.10.) NEXP=0.85
COMPUTE STEADY STATE DISCHARGE
IF(QTRY.LT.0.001) QTRY=QN(4)
COEF=12.#144.5144 16 +NPUMPS«NPUMPS/ (64.4+449,#449 +P1+P)
IF(F(1).GT.10.) COEF=3.03+(12.++4.87)*NPUMPS/(449.#.7854))++1 85
EX=2.0
IFIF(1).GT.10.) £X=1.85
DO 320 NZ=1,20
0O 300 1=1.5
IF(QTRY.GT.QN().AND.QTRY.LE.QN(+1)) GO TO 310
300 CONTINUE
WRITE(S,250)
STOP
310 HN=HNSQ(+{QTRY-QN{) «(HNSQ{I+1)-HNSQUN/QN{+1)-GN(Y)
SUM=0,
DO 301 J=1,NPIPES
*IF(FU).GT.10.) SUM=SUMELL)«QTRYxx1 85/{(F(J)*+1.85)
$x(D(J)+4.87))
IF(FU).LT.10.) SUM=SUMHF()L(UIQTRY+QTRY/D()+5
301 CONTINUE
FUNCT=HRESUP-HRESON+NSTAGE*HN-COEF*SUM
FPRIME=NSTAGEX{HNSQ{I+1}-HNSQU))/ (QN(I+1)-QN())-EX*COEF+SUM/QTRY
QNEXT=QTRY-FUNCT/FPRIME
IF(ABSQNEXT-QTRY}.LT.QACC) GO TO 350
QTRY=QNEXT
320 CONTINUE
WRITE(5,251)
STOP
350 QUINE=QNEXT+NPUMPS



Q=QNEXT
HPUMP=NSTAGE+HN
COEF=4.+144./(449.+P1)
DO 2 I=1NPIPES
VZERO()=QLINECOEF/D(l)++2
AREA(1)=0.25+P1D{1)+D(1}/144.
Cl1)=32.2/A{l)
DELTT(=LA)/(NPARTS(VZERO(I)+A))}
IF(LEQ.NPIPES) SINE()=ZEND-PIPEZ(N/L(I
IF(I.EQ.NPIPES) GO TO 2
SINE()=(PIPEZ(1+1)-PIPEZ(N/L()

2 CONTINUE

+ ++ COMPUTE MINIMUM DELTA T #+

DELT=DELTT(1)
KMIN=1
DO 12 [F2NPIPES
IF{OELTT{).GT.DELT) GO 10 12
DELT=DELTT(l)
KMIN=]
12 CONTINUE
IF{RERUN) DELT=DTNEW
NPARR=1
DO 13 [=1,NPIPES
IFLEQKMIN) GO TO 14
ANPAR=L{)/(DELT=(VZERO()}+A())
NPAR()=ANPAR
TEST=NPAR()
IF(ABS(TEST+1-ANPAR).LT..0001) NPAR(N=NPAR(}+1
GO TO 166
14 NPAR(1)=NPARTS
166 IF(NPAR().GT.NPARR) NPARR=NPAR()
13 CONTINUE
1Z=NPARR+1
122-17+1
ALLOCATE (X(NP,(Z). V(NP IZ) HINP.IZ) HLOWNP.IZ), HHIGH(NP 1Z),

SHEADINP, IZ2),INEWINP 1) HNEW(NP, 1Z), THIGH(NP, 12), TLOWINP.12),

$HSTEADINP.1Z))
DO 177 =1.NPIPES
K=NPAR(I)+1

177 HEAD{.K+1)=0.
WRITE(6,100) CH,CH78,CHN
WRITE(6.201) TITLEI
WRITE(6.2011) TITLE2
WRITE(6,202)

WRITE(6,101) NPIPES.NPARTS, IPUMP,HRESUP.HRESDN,HATM,ZEND, TMAX,

$I0UT.QACC

WRITE(6,104)

WRITE(6,105) NPUMPS,NSTAGE,RPMWRSQ
WRITE(6.106)

WRITE(S, 107) {QN(I),HNSQ(), TNSQI1.I=1,6)
WRITE(6,108) QLINEHPUMP

IF(F(1).AT.10.) WRITE(6,102)

IF(F(1).GT.10.) WRITE(B,1022)

DO 3 [=1,NPIPES

IF(F(1).LT.10.) WRITE(8,103) 1,00),L{).AQ),PIPEZ(1.FI),

102

=
3
02

$VZERO()
F(F(1).GT.10.) WRITE(S,1033) 1,0(0),L() AL, PIPEZ(),F(),
$VZERO()
3 CONTINUE
WRITE(5,1020)
00 4 |=1 NPIPES
LA=L()/AN)
AINT=1.0-OELTsNPARI/LA
4 WAITE(6,1030) ,DELTT(),NPAR(),SINE(I) LA, AINT
+ CONVERT TO Q/N, H/NSQ, TNSQ
COEF=60.+550./(2.+PI)
DO 11=6
QN()=QNI)/{449.4RPM)
TNSQ{)=NSTAGE+COEF*TNSQUI)/RPM++3
1 HNSQU)=HNSQU)/RPM#<2
« + SET UP CONDITIONS FOR STEADY STATE (T=0) #+
HI1,1)=HRESUP
V{1,1)=VZERO(1)
DO 20 =1,NPIPES
DELL=L{)/NPAR(D)
IFF().GT.10.) AK()=12.+DELT*195./(2. sD{I}+(F(}++1 85}
$(00)/12.)#.17)
IF(F().LT.10.) AK{)=124F()sDELT/(2.4D(1)
IFFU).GT.10.) FU=195/F()s+1.85)«(VZERO(}#+. 15}
SO 12 w17
DELHF=12.+F(1)xDELL*VZERO()++2/(64.4+D(1))
K=NPAR(I)+1
X(1,1=0.
HEAD(, 1}=H{,1)-PIPEZ(])
RATIO()=DELT/DELL
D0 21 J=2.K
X{1,=(J-1)«DELL/L(D
HLJ)=H{, 1)-OELHF{-1)
HEAD(.)=H(,J)-(PIPEZUM+X(L,J)=L{NSINE()
21 WLJ)=vzero()
IF(L.EQ.NPIPES) GO TO 20
H+1, 1)=H(L.K)
IF(.EQIPUMP) H{l+1,1)=H{,K}+HPUMP
V{I+1,1)=VZERO(I+1)
20 CONTINUE
DO 23 I=1,NPIPES
K=NPAR()+1
00 23 21K
HSTEAD(.J)=H(1.J)
TLOW(1.J)=0.
THIGH(1,J)=0.
HLOW(LJ)=H0.)
23 HHIGH(,J)=H(1.J)
PHMAX=-100.
PHMIN=100000.
DO 11 I=1,NPIPES
K=NPAR(I)+1
00 11 J=1K
IF(HEAD(,J1.LT.PHMAX) GO TO 16
IPMAX=
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AMAX=X(1.J)
PHMAX=HEAD(1,J}
TIMAX=T
GOTO 17

16 IF(HEAD(1 J).GT.PHMIN) GO TO 17
IPMIN=|
AMIN=X(LY)
PHMIN=HEAD(.J))
TIMIN=T

17 CONTINUE

11 CONTINUE

+ +« WRITE OUT STEADY STATE CONDITIONS +

T=0.0
IENTRY=0
INDEX=TMAX/DELT+1
WRITE(B,100) CH12
WRITE(6,204)
WRITE(6,205) T
DO 22 1=1 NPIPES
K=NPAR(+1
WRITE(6,206) (X(1.J),HEAD(LJ) HILANV(LA =1 K)

22 CONTINUE
iI=1

* IF(SAVE) CALL PGRAPH(!I,NP,IZINDEX,DELT,V.HEAD,IENTRY)

JENTRY=1
WRITES.212) APM.QHPUMP
Q=Qr449.

* BEGIN TRANSIENT ANALYSIS

DO 99 ll=1,INDEX
T=T+DELT
% 3% COMPUTE H AND V AT INTERIOR NODES »«
00 30 =1 NPIPES
K=NPAR()
DO 30 J=2K
RA=RATION}*A)
VLEFT=V{1J)-RA*{(1, )Vl J-1))
VRITE=V(LJ}-RA*(VILJ)-V(LJ+1))
HUEFT=H( J1-Raw(HELJ-H(L8-1))
HRITE=H(,J)-RA=(H(.J)-HO+))
YNEW(J)=0,5+(VLEFT+VRITE+O{)(HLEFT-HRITE}+C{1)«DELT*SINE())
$(VLEFT-VRITE)-AK{1)+(VLEFT+ABS(VLEFT) »sNEXP+VRITE
$SABS(VRITE}=NEXP))
HNEW(1,Jy=0.5+(HLEFT+HRITE+HVLEFT-VRITE)/ClIHDELT=SINE )+
SVLEFT+VRITE)~(AK()/CU)+(VLEFT*ABS(YLEFT) ++NEXP-VRITE+
$SABS(VRITE)+=NEXP))
30 CONTINUE
+ % COMPUTE H AND V AT INTERIOR JUNCTIONS #+
KK=NPIPES-1
D0 40 =1 KK
K=NPAR()+
VLEFT=V(1,K)-RATIO( A= (V{LK)-V{1K-1))
HLEFT=H{|, K)-RATION)*AN(H{,K)-H(1,K-1))
CI=VLEFT+CII}HLEFT+C{}*VLEFT+DELT*SINE()-AK(I)VLEF T+
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$ABS(VLEFT)NEXP
VRITE=V(H, 1)-RATION A ({1, 1-V(41,2))
HRITESH{I+1,1)-RATIO(+ 1A+ s(H{+1, 1)-H{k+1,2)
C3=VRITE-CI1+1)+HRITE-C{+1 s DELTVRITEASINE(1+1)-AK(H1)VRITEx
$ABSIVRITE)«+NEXP
IF(LEQ.IPUMP) GO TO 41
HINEW( K)=(=CIxAREA(I+ 1 )+C1+AREAI/CH+ +AREAN+1)+ Ol
$AREA()
HINEW(+1,1)=HNEW(.K)
VNEW(K)=C1-CUMHNEW(LK)
UNEW(+1, 1)=C3+C{+1)+HNEW(1+1,1)
GOTO4
COMPUTE CONDITIONS AT BOOSTER PUMP
41 IF(BYPASS) GO TO 554
QQ=Q/RPM
IF{QQ.LE.0.) GO TO 552
00 44 J=15
IF(QQ.GT.QN{J).AND.QQ.LE.QN(J+1)) GO TO 45
44 CONTINUE
WRITE(6,260)
=5
TN2=TNSQ(6)
GO 10 553
45 TN2=TNSQU)HQQ-QNIIHTNSQL+1)-TNSQIIAGN+1)-GNLS)
GO TO 553
552 TN2=TNSQ(1)
=
553 RPM=RPM-30.+TNZ*OELT/(PI¥PINERT)RPMRPM
IF(RPM.LT.0.) BYPASS=TRUE.
IF(RPM.LT.0.) GO TO 554
GO TO 555
554 CONTINUE
VPD=(C1AC{++C)CI)/CUN+CU+1)+AREA]+1)/AREA())
IF(YPD.LE.0.) GO TO 520
\IPS=AREA(1+1)*VPD/AREA()
HPD=(VPD-C3)/CII+1)
HPS=HPD
G0 70 530
520 VPS=0,
YPD=0.
HPD=-C3/C(+1)
HPS=CH/Cll)
GO TO 530
555 DO 46 NZ=1,20
HA=HNSQ()
HB=HNSQJ+1)
QA=ON()
QB=QNU+)
C7=(HA-HB)/(QA-GB)
(8=HB-QB+C7
VPD=(C1/CU)+NSTAGE-RPMRPMCB+C3/C(+1)/(1./C(+1 ) +AREA(+)/
${C{)*AREA())-RPMANSTAGE=C7+AREA(+ 1)/NPUMPS)
IF(VPD.LE.0.) YPD=0.
HPD=(vPD-C3)/C{I+1)
VPS=AREA(1+1)*VPD/AREA()
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HPS=(C1-VPS)/CI)
IF(HPD.GT HPS) GO TO 500
VPD=(CT*C{HIHC)CI)(CU)+C(1+1)+AREA(+ )/AREA()
VPS=AREA(1)sVPD/AREAL)
HPD=(VPD-C3)/C{I+1)
HPS=HPD
500 CONTINUE
QPD=VPDAREA(I+1)/INPUMPS*RPM)
DO 47 JJ=1,5
IF{QPD.GT.QN(JJ).AND.GPD.LE.QN(JJ+1)) GO TO 48
47 CONTINUE
IF{QPD.GT.0..AND.J.EQ.5) GO TO 50
IF{QPD.GT.0.AND.J.LT.5) J=J+1
IF(QPD.LE.0..AND.J.EQ.1) GO TO 50
IF(QPD.LE.0.ANDJ.GT.1) J=J-1
GO 10 46
48 IF(LEQ) GO TO 50
J=U
46 CONTINUE
WRITE(5,270)
STOP
50 CONTINUE
Q=QPD+RPM
530 HNEW(H+1,1)=HPD
UNEW(I+1,1)=VPD
YNEW(1.K)=VPS
HNEW(I K)=HPS
IF(HPS.GE.HPO) HPUMP=0.
IF(HPS.GE.HPD) BYPASS=TRUE,
IF{HPD.GT HPS.AND.VPD.GT .0.) HPUMP=HPD-HPS
IF(VPD.LE.0.) HPUMP=HNSQ()*RPM+RPAANSTAGE
40 CONTINUE
+ v COMPUTE H AND V AT UPSTREAM END *+
+ —THIS BOUNDARY CONDITION IS FOR A CONSTANT HEAD RESERVOIR-~
VRITE=V(1,1)-RATION A1 )+(V(1,1)-V(1,2))
HRITE=H(1,1)-RATIO( J=A(1)<(H(1,1)-H{1,2))
C3=VRITE-C{1 }+HRITE-C{I HDELTVRITEXSINE(1)-AK(1)*VRITE+
SABSVRITE)NEXP
HNEW(1,1)=HRESUP
YNEW(1,1)=C3+C{1)sHRESUP
+ + COMPUTE H AND V AT DOWNSTREAM END
+  —-THIS BOUNDARY CONDITION 1S FOR A CONSTANT HEAD RESERVOIR-~
NV=NPARINPIPES)+1
VLEFT=VINPIPES,NV)-RATIOINPIPES) +ANPIPES)*(VINPIPES, NV}
$VNPIPES,NV-1))
HLEFT=H(NPIPES, NV)-RATIOINPIPES) +ANNPIPES)*(HINPIPES, NV)-
SHINPIPES, NV-1))}
CI=VLEFT+CINPIPESHHLEFT+C(NPIPES) *VLEFT+DELT+SINE(NPIPES)-
SAKINPIPES)=VLEFT+ABS(VLEFT)++NEXP
HNEW(NPIPES, NV)=HRESON
VNEW(NPIPES, NV)=C1-CINPIPES) sHNEW(NPIPES, NV)
+ w LOCATE MAXIMUM AND MINIMUM HEADS AND H-VALUES
DO 61 1=1 NPIPES
K=NPAR(I)+1
D0 61 J=1.K
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DELTX=L{)/(NPAR(}=(ABSIVNEW(,J1+A()))
IF{DELTX.LT.DELTN) DELTN=DELTX
IFHNEW(1.J).GT.HLOW(|.J)) GO TO 63
HLOW(1.J)=HNEW(,J)
TLOW(LJ}=T
63 IF{HNEW(1,J).LT.HHIGH(.))) GO TO 64
HHIGH(J}=HNEW(.J)
THIGH{LJ)=T
64 HEAD(,J)=HNEW(1,J)~{PIPEZ(}+X(LJL{SINED)
IF(HEAD(,J}.LT.PHMAX) GO TO 66
IPMAX=
XMAX=X{1,J)
PHMAX=HEAD(,J}
TIMAX=T
GO TO 67
86 IF(HEAD(.J).GT.PHMIN) GO TQ 67
IPMIN=]
XMIN=X{1,J)
PHMIN=HEAD(1 )
TIMIN=T
67 CONTINUE
IF(HEADLJ).GT.~HATM) GO TO 62
WRITE(S.214) T.LX(1J)
FAIL=TRUE.
62 CONTINUE
61 CONTINUE
* » WRITE QUT H.V,AND HEAD VALUES AND TEST FOR TMAX =
IF(FALL} GO TO 71
IF(MOG(iI,IOUT).NE.Q) GO TO 72
71 WRITEIB.205) T
DO 73 =1, NPIPES
K=NPAR{I)+1
WRITE(,208) 1, (X(1.J),HEAD(J). HNEW(1,J) VNEWLI.J) . J=1 K}
73 CONTINUE
IF{BYPASS.AND.VPD.GT.0.) WRITE(6,215)
IF(BYPASS) GO TO 72
QQG=t494Q
WRITE(6,212) RPM.QQQHPUMP
72 CONTINUE
* IF(SAVE) CALL PGRAPHI(II NP, Z,INDEX,DELT YNEW, HEAD,IENTRY)
IFFAIL) GO TO 400
* + PREPARE FOR NEXT TIME STEP COMPUTATION *+
DO 80 I=1,NPIPES
K=NPAR(I}+1
DO 80 J=1 K
VILJ)=NEW(L)
80 H{LJ)=HNEW(.J)
IF{T.GT.TMAX) GO TO 400
99 CONTINUE

* END OF TRANSIENT ANALYSIS

+ ++ CHECK STABILITY CRITERIA #*
400 IF(DELTN.GE.(0.9999+DELT)) GO TO 402
DELT=0.999+DELTN
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5. FEFol Mol H=of HAAZA

WRITE(» 216) DELT
WRITE(6,216) DELT
GOTO 9%
+ 0 WRITE OUT MAXIMUM AND MINIMUM HEADS AND H-VALUES #

402 CONTINUE

WRITE(8,100) CH12

WRITE(5,207)

DO 401 1=1,NPIPES

WRITE(6,208) |

K=NPAR()+1

DO 401 J=1 K
HEADMX=HHIGHI1J)-(PIPEZ(1}+X{, J)+L{1) +SINE())
HEADMN= HLOW(,)-(PIPEZ{1)+X(,J)=L{I)«SINE(D)

401 WRITE(6,200) X{1.J), HEADMX, THIGH(,J), HEADMN, TLOW(1.J),

$HHIGH(.J},HLOW(1.J)
PMAX=PHMAX/2.31
PMIN=PHMIN/2.31
WRITE(S,210) PHMAX,PMAX, IPMAX YXMAX, TTMAX
WRITE(G,211) PHVIN,PMIN, IPMIN, XMIN, TTMIN
IF{PFILE) WRITE(6,100) CH12
[F(PFILE) CALL PROFILE(NPIPES,L.NPAR,PIPEZ,SINE, X, HLOW, HHIGH,
$HSTEAD,IENTRY)
IENTRY=2
+ IF(HVPANT) CALL PGRAPH(ILNP,IZ,INDEX, DELT YNEW,HEAD, IENTRY)
IENTRY=3
WRITE(B, 100) CH.CHT9
+  IF{PPLOT) CALL PGRAPHIINP.IZ,INDEX, DELT,YNEW,HEAD, IENTRY)
IENTRY=4
+ [FIGRAPH) CALL PGRAPH(ILNP IZ INDEX, DELT YNEW HEAD IENTRY)
IF(GRAPH) CALL PROFILE(NPIPES,LNPAR,PIPEZ, SINE,X,HLOW, HHIGH,
$HSTEAD,IENTRY)
98 CONTINUE
* wxkenx FORMAT STATEMENTS wkassne

100 FORMAT(38)

101 FORMAT(5X,'NUMBER OF PIPES ='I3/5X, MINIMUM NO. OF PARTS PIPE IS
$DIVIDED INTO ='I3/5X,'BO0STER PUMPS ARE LOCATED AT DOWNSTREAM END
$ OF PIPE' I3/5X,'RESERVOIR ELEVATION AT UPSTREAM END ='F7.1,' FT'
$/5X,'RESERVOIR ELEVATION AT DOWNSTREAM END ='F7.1,' FT/
$5X, ATMOSPHERIC PRESSURE HEAD ='F5.1,' FT OF WATER'
$/5X,'ELEVATION OF DOWNSTREAM END OF LAST PIPE = F7.1," FT'//5X,
$MAXIMUM REAL TIME OF ANALYSIS ='F7.1,' SEC'//5X,'OUTPUT IS PRINT
$ED EVERY' )4, TH TIME INTERVAL'//5X,'ACCURACY OF ITERATION FOR ST
$EADY STATE DISCHARGE ='F5.1,' GPM)

102 FORMAT(//22X,'PIPE INPUT DATA'/22X,15(~')//5X,'PIPE DIAM-IN LENGT
$H-FT WAVE SPO-FPS PIPEZ-FT F-VALUE VEL-FPSY
S5XA-) 6T X016 120, X 8= 7 (-,
$IXT(-0

1022 FORMAT(//22X,'PIPE INPUT DATA'/22X,15('~')//5X, 'PIPE DIAM-IN LENGT
$H-FT WAVE SPD-FPS PIPEZ-FT C-VALUE VEL-FPS/
$5XAC-0, X 7000690, 1% 120,180, 1X.7(-),
$1X,7(-)

1020 FORMAT(/5X,'PIPE DELT-SEC PARTS  SINE L/A-SEC INTERPOLATION'
$/5%40-),18(-") 15(-'),26(="), 1, 7(="), 1X,13(-)

103 FORMAT(5X,13,2X,F6.2,1X,F9.1,6X,F6.0,4X,F6.0,3X,F5.4,3,
$F5.2)
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1033 FORMATI5X,13,2% F6.2,1X.F9.1,6X,F6.0,4%,F6.0,3%, F5.0,3 £5.2)
1030 FORMAT(5X,13,2X F6.3,3X.13.2X F7.5,1X,F6.25%,F5.3)

104 FORMAT(///15X,'s PUMP DATA *'/)

105 FORMAT(SX,'NUMBER OF PUMPS IN PARALLEL ='13/5%,'EACH PUMP HASI2
$,' STAGES'/5X,'STEADY STATE PUMP SPEED ='FT7.1,' RPM'/5X,'EACH PUM
$P AND MOTOR UNIT HAS A MOMENT OF INERTIA OF'£6.1," LB-FT SQ)

106 FORMAT(/8X,'Q-GPM  H/STAGE-FT  BHP/STAGE'/8X,5(-",2X,10("-),2X,
$9(-)

107 FORMAT(BX,F7.1,2%,F8.1,4X,F8.2)

108 FORMAT(//5X,'* STEADY STATE LINE FLOW RATE ='FS.1,
$' GPM AT A PUMP HEAD ='F6.1,' FT")

201 FORMAT(//10X.A)

2011 FORMAT(10X,A//)

202 FORMATI(21X, 14(+')/21X,'s INPUT DATA #'/21X, 14(¥)/)

204 FORMAT(//{f*  PRESSURE HEADS, H-VALUES AND VELOCITIES AS FUNCTIONS
$ OF TIME'/2X 60(-")

205 FORMAT(//18X,2(4X," X HEAD-FT H-FT  V-FPS)/" TIME ='F7.3,
$ SEQ' (8, —mmm = e ! 9

206 FORMAT(/12X,'PIPE" 12, 2(4X,F5.3,2F7.0,F8.2) /(18X 2(4X,F5.3,2F7.0
$,F8.2))

207 FORMAT(////28X 27('+')/28X,'s TABLE OF EXTREME VALUES #/
$28X.2704)//13XX  MAX HEAD TIME  MIN HEAD TIME
SMAX H  MIN HY11X,5('-'),2X,80~"), 2%, 4(-),4%,8('-),2X,
$4(-"),3% 6(-"),3%.60-)

208 FORMAT(2X, PIPE'|2)

209 FORMAT{11X.F5.3.3%,F6.1,2% 5.1 5X,F6.1,2K £5.1,3%,F6.0,3%F6.0)

210 FORMAT(//' MAXIMUM HEAD ='F6.1," FT {/F5.1," PSI) IN PIPE',
$13." AT X ='F5.3," AT TIME ='F7.2,* SEC')

211 FORMATL/' MINIMUM HEAD ='F6.1." FT {.£5.1." PSI) IN PIPE’,
$13" AT X = F5.3" AT TIME ='F7.2, SEC)

212 FORMAT(/15X,'PUMP SPEED ='F7.1," RPM, 10X, PUMP DISCHARGE ='F7.1
$.' GPM EACH'/15%,'PUMP HEAD ='F8.1," FT")

214 FORMAT(////2X, COLUMN SEPARATION HAS OCCURRED AT'F6.2," SEC IN PI
$PE'J3," AT LOCATION',F5.3)

215 FORMATI/15X, PUMP HEAD HAS DROPPED TO ZERO AND BYPASS IS OPEN)

216 FORMAT(/' THE CHECK FOR STABILITY CRITERIA HAS FOUND A VIOLATION.'
$/' THE ANALYSIS MUST BE RERUN WITH A SMALLER DELTA T./
$' CHANGE DATA FILE TO SET DTNEW ='F7.4," SEC & RERUN = °T")

250 FORMAT(/////10X,'YOU HAVE EXCEEDED MAXIMUM DISCHARGE VALUE INPUT.
SEXECUTION IS TERMINATED.)

251 FORMAT(/////10X, ITERATION TO COMPUTE STEADY STATE DISCHARGE WAS U
$NSUCCESSFUL AFTER 20 TRIES))

260 FORMAT{//10X,'YOU HAVE EXCEEDED MAXIMUM BHP VALUE INPUT)

270 FORMAT(/////10X, THE SEARCH FOR A VALUE OF Q HAS CYCLED 20 TIMES W
$ITHOUT SUCCESS. EXECUTION IS TERMINATED.')

750 FORMAT(A)

791 FORMAT(/ ENTER THE NAME OF YOUR INPUT DATA FILE: W)

792 FORMAT(/' ENTER THE NAME OF THE FILE ON WHICH YOU WANT YOUR

QUTPUT
$ WRITTEN: 'W)
END
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